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µ In time domain NII corresponds to
Alt

A pjuln Aapjuln where A and ta

depend on gli and yt

But since 1131,112121 the signal

vanishes at large n

Ansvern true
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4 Since all poles 7 are within the

unit circle the transient vanishes

Therefore sane answer as in bl

YHt.EE
E HEHE D



tiÉÉ

ylnt ulna If uh Eilat

Problem3

Fact A signal of form Costal
h 0 NY

has DFT E Ni f ko and N ko

0 otherwise
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Fact 2 Xz n and n ane indistinguishable

Fact Acosinelsine has E peaks
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In hln h1n1
remains to invert Htt standard

problem
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same result



µ No since output in a and b are

identical but sampling of a yields
a different output

d Forgiven Fs the accuracy is adjusted

by zero padding Then Fs should be selected

such that we get Hf
o oo

FÅ sobig
Soho aliasing occurs

Problem 5

al see book

µ A and B has Zeros in their

DTFTs due to zeros at the unit

circle

There is only 7 Zerolpole plot

with this property so we know

that the missing Zerolpole is



for either Aor B
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HIM corresponding to 3 would

be periodic so this must be D
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Therefore I

Summary I
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